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‘Wite down the equation for the tangent in part d(iv). 2

6 (a) OnlstJanuary 2000, Ashraf was x years old.
Bukki was 5 years older than Ashraf and Claude was twice as old as Ashraf.

() Write down in terms of x, the ages of Bukki and Claude on 1st January 2000 2
(i) Wite down in terms of x, the ages of Ashraf, Bukki and Claude on Ist January 2002. ]
(i) The product of Claude’s age and Ashraf’s age on Ist January 2002 is the same as the square of

Bukki’s age on Ist January 2000.
‘Write down an equation in x and show that it simplifies to x* — 4x — 21 “
(i) Solve the equation * — 4x ~21 = 0. 2
(¥) How old was Claude on st January 20027 ]
(b) Claude’s height, h metres, is one of the solutions of A + 8 — 17 = 0.
() Solve the equation h? + 8h — 17 =0.
‘Show all your working and give your answers correct to 2 decimal places. “
(i) Wite down Claude’s height to the nearest centimetre. ]
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[Turn over

4

10 When cars go round a bend there is a force, F, between the tyres and the ground.
F varies directly as the square of the speed, v.
When v=40, F = 18.
Find F when v =32.

11 In April 2001, a bank gave the following exchange rates.
1 euro = 0.623 British pounds.
1 euro = 1936 Italian lire.
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Find, by using aceurate constructions, the region inside the circle which contains the points more i
than 5 cm from G and nearer to H than to G. Shade this region. “

19 (@) Solve the incquality 5723_‘>%+{‘_‘.

Answer (a)

3]

(b) List the positive integers which satisfy the inequality
3 &,
s-Zslex

i
+

Answer (b)
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Answer (b) m’ [2)

2
14 @) Wie - o7 @ single fraction in its simplest form.
X x

(®) Solve the equation 3~ ——
X ael

Answer (b) x=
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(@) At what time did the train journey end?

m

(i) Tuesday’s time of 7 hours 20 minutes was 10% more than Monday’s journey time.

How many minutes longer was Tuesday’s journey?

2

(b)

‘The surface area of a person’s body, A square metres, is given by the formula

I
A= 3600

where  is the height in centimetres and m is the mass in kilograms.

(@) Dolores is 167 cm high and has a mass of 70 kg. Calculate the surface area of her body.

(i) Erik has a mass of 80 kg. Find his height if A = 1.99.
(i) Make J the subject of the formula.

Factorise

@ x*-16,

(i) x*-16x,

(i) x2=9x +8.

m
2
[6)]

m
m
2
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(¢) Erik runs a race at an average speed of x mjs.
His time is (3x - 9) seconds and the race distance is (22 - 8) metres.

() Write down an equation in x and show that it simplifies to

x2-9x+8=0. 21
(ii) Solvex?-9x+8=0. 2
(iii) Write down Erik’s time and the race distance. &)
3 North B NOTTO
SCALE
oS

&G

32m

Felipe (F) stands 17 metres from a bridge (B) and 32 metres from a tree (7).
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w0 one nneger,

R ||

(b) one irrational number.

4 Solve the inequality
5-3x<17.
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5 Solve the equation
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4
7 Theair resistance (R) to a car is proportional to the square of its speed (v).

When R = 1800, v = 30.
Calculate R when v=40.

Answer R =,

8 In 1997 the population of China was 1.24 x 10°.
1n 2002 the population of China was 1.28 x 10°.
Calculate the percentage increase from 1997 to 2002.
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(®) State the value of n(B A A)

12 Make ¢ the subject of the formula,
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17 Solve the equation
F44x-22=0.

Give your answers correct to 2 decimal places.
Show all your working.
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Answer (c) Angle PSQ = -

15 Solve the simultaneous equations
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y-

Write down the value of x.

Answer (@) x

b) 5=k
Find $"*", in terms of k.

Answer (b) 5°*'=.......

9 (a) 32493 people were at a football match.
‘Write this number to the nearest thousand.





